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No E[ =7 HA X ()| [EEEM@A| £V OFF No EN = YA R (m) | EEEAAS | -Vt OFF No E[ 7 HAX (o) | EZRA@AE | -V OFF
1 % 10.5 7,800| 6,200|20% 49 | +0A (&) 135 34,800|26,800| 22% 97 |A&SF LEHE 16.5 135 [131,000( 77,000| 41%
2 |t 12 9,800| 7,800|20% 50 | £0f (&) 15 39,800|30,800| 22% 98 |&=%F LA 135 12 [131,000| 75,800| 42%
3 | 135 11.800| 9,400|20% 51 | 0B (&) 16.5 48,000| 35,800| 25% 99 |[ARF ®HEC 15 135 151,000 85,800| 43%
4 7= 10.5 7,800| 6,200|20% 52 | 40f (B) 135 39,800| 30,800| 22% 100|&A5RF %EE 16.5 13.5 |161,000| 91,800| 42%
5 |77= 12 9,800 7,800|20% 53 | 0 (H) 15 48,000 36,800 23% 101 |Z774>€53voX A [135 12 |104,000| 62,800 39%
6 |7v= 13.5 11,800| 9,400|20% 54 | 40f (B) 16.5 58,000(44,800| 22% 2% 102|77r>&53yo2C |15 135 |122,000| 72,800 40%
Ytz 10.5 11,800| 9,400|20% 55 | ARF L 135 58,000(39,800| 31% = 103|774 EZ53IVIRXE 16.5 135 [131,000| 77,800| 40%
8 |¥#E 12 13,800( 11,000 20% 56 | ARF L 15 68,000(46,800({31% | | w [104|H—R> A 135 12 [104,000| 62,800| 39%
9 |¥E 13.5 15,800( 12,600 | 20% 57 | ARF L 16.5 78,000|52,800|32% | | s |105|Hh—R> C 15 135 [122,000| 72,800| 40%
10 |Bk4 10.5 14,800(10,800 | 27% = 58 | ARF L 18 88,000|56,800| 35% 106 |[H—7R>V E 16,5 135 [131,000| 77,800| 40%
11 |EBK4 12 17,800| 12,800 | 28% 59 |ARF LtE 135 68,000(45,800| 32% 107 | 79> A 135 12 75,000| 49,800| 33%
12 |BKk4 13.5 21,800|15,800|27% 60 | A%RF Lt 15 78,000(52,800| 32% 108|F%> C 15 135 90,000| 59,800| 33%
13 |0f (&) 10.5 15,800(12,800| 18% 61 | AfRF Lt 16.5 88,000|56,800| 35% 109 |F% > E 16.5 135 | 99,000| 65,800| 33%
14 |40/ (8) 12 19,800 15,800 | 20% 62 | "ARF "L 13.5 78,000(48,800| 37% 110[#% A 135 12 105| 35,000| 27,800| 20%
15 |40/ (&) 135 24,800(19,800 | 20% 63 | ARF "L 15 88,000|54,800| 37% 111|#%&C 15 135 105| 42,000| 32,800| 21%
16 |40f (B) 10.5 19,800 15,800 20% 64 | ARF Lt 16.5 98,000|59,800| 38% 112|% EE 165 135 12| 48,000| 37,800 21%
L 17 |50/ (7) 12 24,800(19,800 | 20% ER 65 | 77AvEIIVvIR 135 68,000(46,800|31% 113|77=A 135 12 105| 35,000| 27,800| 20%
17|18 20/ (A) 135 29,800|22,800| 23% 66 | 77V EIIVIR 15 78,000(53,800| 31% 114|77=C 15 135 105| 42,000| 32,800| 21%
En 19 AT Lt 10.5 29,800(19,800| 33% 67 | 77 AV EIIVIRX 16.5 88,000|59,800| 32% 115|72'= EE 165 135 12| 48,000| 37,800| 21%
. |20 | x®RSF t 12 34,800({23,800| 31% 68 | A—m> 135 68,000(46,800| 31% 116 |[#ZFEA 135 12 105| 53,000| 40,800| 23%
EAANES & 135 39,800({27,800 | 30% 69 | A—RY¥ 15 78,000(53,800| 31% 117|¥#C 15 135 105| 60,000| 46.800| 22%
22 | R&F Ltt 10.5 34,800|23,800| 31% 70 | A=Y 16.5 88,000(59,800| 32% 118 |2 EE 165 135 12| 67,000| 52,800| 21%
23 |A&F Ltt 12 39,800(27,800 | 30% 71| FIV 135 48,000|32,800| 31% 119 | 8K4F A 135 12 105| 62,000| 43,800| 29%
En 24 |[ARF Ltk 13.5 48,000({31,800 | 33% 72 | FIV 15 58,000(39,800| 31% 120|Ex4 C 15 135 105 69,000| 48,800| 29%
25 |[ARF HE 10.5 48,000({31,800| 33% 73 | FIV 16.5 68,000(44,800| 34% 121 |2K4 EE 165 135 12| 79,000| 55,800| 29%
26 | RXRF HE 12 58,000|38,800| 33% 74 | HEA 135 12 28,000(21,800(| 22% 122|40f (&) A 135 12 105| 66,000| 48,800| 26%
27 |[KAgF HL 135 68,000|43,800| 35% 75| % C 15 135 35,000 26,800 23% 123|408 (&) C 15 135 105| 76,000| 55,800| 26%
28 |77AVETIVIR 12 39,800(27,800 | 30% 76 | tHE 16.5 13,5 | 40,000/30,800|23%| | 3 |[124|40f (&) EE 165 135 12| 87,000| 63,800| 26%
29 |[77AVEIIVIR 135 48,000{32,800| 31% 77 | PU=A 135 12 28,000(21,800(22% | |4 125 |40 (=) A 135 12 105| 80,000| 58,800| 26%
30 |[T7AvEIIvIR 15 58,000/38,800| 33% 78 | 7=C 15 135 35,000|26,800| 23% '!‘Z 126 |40fA (A) C 15 135 105 92,000| 67,800| 26%
31 |[h—R> 12 39,800({27,800 | 30% 79 | PUZE 16.5 13.5| 40,000(30,800|23% |< 127 |40f (B) EE 165 135 12/106,000| 77,800| 26%
32 |[H—R>v 135 48,000({32,800| 31% 80 | ¥EA 135 12 42,000|31,800| 24% 128| ARSI EA 135 12 105/116,000| 68,800| 40%
33 |A—mhY> 15 58,000/38,800| 33% 81 | ®#EC 15 135 49,000| 36,800| 24% 129|A%SF EC 15 135 10.5[130,000| 76,800 40%
34 |FHV 10.5 24,800(16,800 | 32% 82 | REE 16.5 13.5| 54,000(40,800|24% 130 |&ARF LEE 165 135 12|144,000| 84,800| 41%
35 |[FHV 12 29,800(20,800 | 30% 83 | K4 A 135 12 49,000| 34,800 28% 131 [ARF EEA 135 12 105[135,000| 81,800 39%
36 |FYv 13.5 34,800(23,800| 31% 2 |84 | =x4cC 15 135 56,000 38,800 30% 132|A&RSF LEEC 15 135 105[152,000| 87,800| 42%
37 |t 13.5 19,800| 15,800 20% & 85 | BK4FE 16,5 13.5| 63,000|42,800|32% 133|ARF L+ FEE 165 135 12/167,000| 95,800| 42%
38 |#h 15 24,800 19,800 | 20% .5 86 | 0B (&) A 135 12 52,000| 38,800 25% 134 |ARF HEA 135 12 105|174,000| 98,000| 43%
39 |#h 16.5 29,800|23,800| 20% ~ 87 | 0 (&) C 15 135 62,000|45,800| 26% 135|A%RF HEC 15 135 10.5]193,000{110,000( 43%
40 |77 = 13.5 19,800|15,800 | 20% 88 | +0A (&) E 16.5 13.5| 70,000|51,800| 26% 136 | A"RF HLEE 165 135 12 [212,000( 120,000 43%
41 |[77= 15 24,800/19,800 | 20% 89 | 4oB () A 135 12 | 62,000|45,800| 26% 137| 77453y~ X CC |15 135 12|157,000| 93,800 40%
E|42 [77= 16.5 29,800(23,800 | 20% 90 | #0A (H) C 15 135 75,000/ 54,800| 26% 138|771 >tEZ3y X EE [165 135 12|167,000| 96,800 42%
43 | 135 29,800(23,800 | 20% 91 | 40 (B) E 16.5 13.5| 85000|61,800| 27% 139|A—7R>¥ CC 15 135 12|157,000| 93,800 40%
En 44 |\FoEE 15 34,800|27,800 | 20% Q2 | FEF LA 135 12 90,000| 55,800| 38% 140|#—7R> EE 165 135 12/167,000| 96,800 42%
45 |FozE 16.5 39,800(31,800 | 20% 93 | A&F EC 15 135 [104,000|62,800| 39% 141|F%> CC 15 135 12{116,000| 75,800| 34%
46 (B4 135 32,800(24,800 | 24% 94 | ARF LE 16.5 13.5|114,000|67,800| 40% 142|F% > EE 165 135 12/125,000| 79,800| 36%
47 |BKHF 15 36,800(27,800 | 24% 95 | ARF LEEA 135 12 [104,000/162,800|39% | ¢t EgRDAB,C.D.EEEDFRRIIAZEDEABLETT,
48 |EKk4 16.5 43,800|32,800| 25% 96 | A%F LEC 15 135 |122,000|72,800| 40% REDRRTIEFEDEE Ao
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